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Qil. Cho(ose the correct answer and write it in the answer sheet: [10X1=10]
(a) Cable television in a city is an example of
(i) PAN (i) WAN
(iti) LAN . (iv) MAN
(b) Extension of audio file
(i) -htm!" (ii) .mp3
(iii) .doc (iv) .ppt
(c) It converts digital signals to analog signals
(i) Connector (i) Modem
(iii) Switch (iv) Cable
(d) This is the simplest form of topalogy where two nodes are directly connected to each
other
(i) Bus (ii) Star
(iii) Mesh (iv) Point to Point
(e) Tag used to mark the text as hyperlink
(i) <H> , (i) <link>
(i) <A> ' (iv) <P>
(f) Dotted and dashed are some of the possible values for the CSS property -
(i) Font (ii) border-style
(iii) height (iv) border-width
(8) It refers to computer network restricted to an organisation
(i) PAN (i) WAN
(iii) Intranet (iv) Internet
(h) Property used to align an image to right or left of the text in a webpage
(i) Left (ii) Right
(iii) Both (iv) Float

(i) Default bullet style in an unordered list
OIVAN (i) @
(i) () (i) [ ]
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(i) Attribute not supported by the <table> tag

(i) border ‘ (ii) height
(iii) face ‘ (iv) cell padding
Q2. Give one word answer for the following: » [10X1=10]
(a) This network connects two or more computers located at far-away places across
countries ' S ‘ '

(b) Number of heading levels supported by HTML ‘

(c) These are computers with request services from the server

(d) Give an example of an empty tag ‘

(e) In this topology data is transmitted in one direction only

(f) Default number style in an ordered list

(8) Write the full form of WiFi

(h) These are used in wireless networks instead of hubs/switches

(i) Tag which encloses the <TD> tag while making tables in HTML

(i) This attribute of <video> tag plays the video file automatically when webpage is loaded
i

Q3. Answer the following questions [5X3=15]
(a) What are “tables”? Write it’s advantages. ‘
* (b) What are frames in HTML? Briefly explain the tag used to define frames and any of its
" two attributes. o :
(c) Write the importance of associating alternate text with an image in a web page.
(d) Explain the feature of linking in HTML along with its types.
() How can we insert video clips in HTML? Explain any of the two attributes associatad

with this tag.

Q4. Write HTML tags for the following: - B [4X2=8]
(a) Toinsert a hypertext “Click Here” on a webpage which links to “text.hmi”
(b) To insert an image “tulips.jpg” that is right aligned with alternate text as “picture of a
beautiful flower”
(c) Toinsert a video file “wildlife.mp4” with both the height and width set to 50 px
(d) To insert a frame “School.html” with height as 300 px and width as 400 px

Q5. Write notes on: ‘ [4X2=8]
(a) Network Card (b) Bluetooth
(¢) Personal Area Network (c) Client-Server Model

Q6. Explain: [4X3=12]
(a) <audio> tag with any of its two attributes (b) Network Security

(c) <img> tag. Also explain any two of its attributes  (d) Description List
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Q7. Write HTML program to obtain output as shown below:

NETWORKS |  [x
TOPOLOGIES

» BUS

» TREE

* MESH
ARCHITECTURE

J. Client-Server
K. Peer-to-Peer

Click here to see details -

(a) Give the title as shown on the web page above . - [1]
(b) Set the colour of the [ull page to yellow [1]
(c) Setthe two headings to level 1, center align : (2]
(d) HTML for the two lists shown : [a]
(e) Last sentence should link to the file “Details.html” . [2]

Q8. (a) Mr. Sharma has set up a new office with few computers having similar capacity in a

network. Which type of network architecture is suitable for his office? (11
(b) Name the topology used in our school computer lab where each computer is connected
separately to a central server [1]

(c) Mohit wants to list the 4 network types — PAN, LAN, MAN & WAN in a table. ‘Vrite the
HTML code for the following table. Also set the table border to 4 and the cell padding to 20

pixels. [5]

PAN MAN

LAN WAN
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HALF YEARLY EXAMINATION 10/2017
9 CLASS : VIII
SUBJECT : MATHEMATICS
Time : 3 hrs ‘ MM : BO
General Instructions ! '

(i)  All questions are compulsory.

(ii) ° Read all questions very carefully.

(iii) Questions 1 to 6 carry 1 mark each.

(iv) Questions 7 to 12 carry 2 marks each.

(v) Questions 13 to 22 carry 3 marks each.

(vi) Questions 23 to 30 carry 4 marks each.

Ql. Name any quadrilateral whose diagonals are equal.

] 31
Q2. Write the additive inverse of 12

@3. Isit possible to have a polyhedron with any given number
of faces? Name the smallest polyhedron. ‘

Q4. State whether the population of a country and the area
~ of land occupied per person vary directly or inversely.
Q5. When a die is thrown, list the outcomes of getting a prime

number. ' .
Q6. Without any calculation find the number of digits in the
square root of 25600. : :

Q7. Calculate the angle sum of a convex polygon with 8 sides.

-8 2 .
Q8. Represent = and - ona number line.

Q9. Two numbers are in the ratio 7:4. If they differ by 21,
what are the numbers?

Q10. Find the cube root of 74088 by estimation method.

Q11. A card is drawn at random from a pack of 52 cards. Find
the probability that it will be (a) a king (b) a red card.

@12. Can a polyhedron have 8 [aces, 9 vertices and 11 edges?

(1)



Daily wages (in %) 100-200 | 200-300 | 300-400 | 400-500 | 500-600

) Q13. How many sides does a regular polygon has if each of its '

“interior angle is 120°? .
(214. Write a Pythagorean triplet whose one member is 28.
Q15. Find the cube root of 4096 by prime factorisation method.

'Q16. A machine in a soft drink factory fills 950 bottles in 5
hours. How many bottles will it fill in 4 hours?

Q . 3olve by using properties : 3767913 3
5 3x 5x  x

: . -+ =30

] Q18 Solve 5 T

) 219. (a)  Find the square root of 49 by repe'ated subtraction
e method, ‘

(b)  Express 144 as the sum of 12 odd numbers.

020. The given data shows the daily wages (in ¥) of a group of
85 workers in a firm.

. No.ofworkers . | 8 L ) 10 9

- Draw a histogram for the given data.

Q21. Deepika is twice as old as Kanchan. Five years later
‘Deepika's age will be 5 more than Kanchan s age Find
their present ages,

- 022. Draw the front view, side view and top view of the given

Ivﬁ‘gure, ; B o¥
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Q28.

@24,

Q25.

Q26.

Q27.

Q28.

Q29.

Q30.

Using Euler’s formula, find the values of x, y and z.

| Faces 6 19 Z
Edges 12 y 30
Vertices X 19 16

Five persons could paint the house in 12 days.

(a) Two persons left the job before the work started.
How long would the job take now?
(b) How many persons would be needed to paint the

house in 5 days?

Solve and check your result: bx-4=38x-10

i -2
Find four rational numbers between 3 and 5

Find the least number which must be subtracted from
3248 s0 as to get a perfect square. Also find the square
root of the perfect square so obtained.

(a)

Make a pie chart to show the number of votes received
in the election of the class monitor.

Name

Rajan [ Pari Prashant| Mohan
Votes 15 10 20 15
(b)  What is the importance of voting?

Is 5488 a perfect cube? If not find the smallest number
by which 5488 must he divided to obtain a perfect cube.
ABCD is a parallelogram.
If AB = bem, AD = 4cm
and ZDAB = 80°. Find the
following by giving
appropriate reason.

(a)
(b)

) [
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HALF YEARLY EXAMINATION 10/2017

— CLASS : VIII
SUBJECT : INTEGRATED SCIENCE
Time : 3 hours ' : MM : 80
General Instructions : |
‘{i} This paper consists of three sections A, B and C.
(i) Marks are indicated against each que’stion.‘
(iii) Draw neat and well labelled diagrams wherever
required. ( :
SECTION-A (PHYSICS) )
Ql. Answerin one word or one sentence (5x1=5)

(a) What happens, when a charged plastic straw is
brought near an uncharged one?

(b) X is acting on our bodies from outside and our
blood pressure is balancing it from inside. Identify

X ' ‘

(¢) Anearthquake can cause a huge damage to life and
property. Name the device thatis used to record
the waves of an earthquake. - » '

(d) Why is it advised not to put any sharp or pointed
object in our ears? :

(e) There is a force that always acts in the direction
opposite to that of motion. Name that force.

@2. Answer briefly : (4x2=8)

(a) Two situations are given below. For each situation,
determine the net force acting upon the obiect.

SITUATION A - SITUATION B
- 3N
&N BN | HN
| 9N
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g3,

g4

(b)

“ (c)

@

In an clectroscope, when a charged refill is brought
pear the metallic clip, the charge transfers and __ ¢
aluminium strips show deflection. What change do
you observe in the strips when you touch the metal
clip with your hand? Why does this happen?

Give reason

i) Itis difficult to walk on a wet surface.

(1) ~Wrestlers apply sand on their hands.

Your parents are going to buy a house. They have
been offered one on the roadside and another three
lanes away from the roadside. Which house would
you suggest your parents should buy? Explain your
ANSWer. -

Answer the following : : S (3x3=9)

(a)

- (b)

(c)

() What is easier - to move a heavey box at rest
or to move it when it is already in motion?
Justify your answer.

(i) HHwe put wheels under the heavy box, which
 type of friction will act between the wheels

and the grond?
Explain with the help of a diagram, an activity that
liquids exert pressure on the walls of the container.

Suppose you are at home and when you look out of

" {he window, you see bright streaks of light in the
“sky due to heavy rainfall.

" (i) Name the device that must be installed in your

building to keep it lightning safe.

(i) Enlistiwo precautions that you must take at
this time.

Answer the following : (1x5=5)

(a)

A pendulum oscillates 20 times in 5 seconds.

Calculate its time period and frequency.

()



(b)

—

Out of a whistle and a drum, whose sound is shriller?
Why? ;
SECTION-B (CHEMSTRﬂ

Q1. Answer in one word or one sentence : " (6x1=5)

(a)

(b)

(c)
(d)

(e)

Select the odd one out giving reason :

biogas, natural gas, coal, pefroléum

How doeg hot water released from coal power planis
and industries act as a pollutant?

Petrél : aviation fuel :: _ - _: candles

Name the non-metal essential for our life and is.
inhaled by all living beings during breathing.
Which one of the fdllowihg element doesn't react
with dilute hydrochloric acid. Give reason.

magnesium, iron, aluminium, sulphur

Q2. Answer briefly : | ‘ (4x2=8)

(a)

(b)

(c)

Which fuel is the government insisting on to be used
in vehicles? How will it be helpful in reducing air -
pollution? ‘

What is the use of the following properties of metals?
() malleability (i) ductility

(i) sonority (iv) heat conduction
Fill in the blanks to complete the following paragraph:
The name of the product formed in the reaction
between sulphur and (i) is sulphur dioxide

gas. When sulphur dioxide is dissolved in (i)
sulphurous acid is formed. Sulphurous acid turns

]

blue litmus red. Generally oxides of (iff) __are
acidic in nature and oxides of (iv) are basic
in nature.

(3) =




(d) What is potable water? Write any two methods of
 water pﬂrification. "
@3. Answer the following : : (SXS;'?))
(a) . When coal is produced in industry three useful
products are obtained - one is a solid, other is a
lquid and the third is a gas. Name the three products
and give one use of each.

(b) Complete the following table :

Pollutant Source of the | Effect
| Pollutant
(i) . produced by
incumplete
combustion of
fuels like diesel
and petrol
(if) Chlorofluoro
_carbons
(i) catise smog
that causes
breathing
difficulties like
asthma,
coughing ete.

(¢) Imagine that you are an iron-strip. Keeping this in
mind answer the following questions :
(i) Classify yourself as metal or non-metal.

(1) What will happen when you stay in moist air
for considerable ime? Write the word equation
for the ahove change.

4)




Q4. Answer the following : : (5)

(a) Whatisa displacement reaction? Which of the
~ following pair will show displacement reaction and
why?
(@) Copper sulphate (CusQ,) + Zin¢ (Zn)
ii) TIron sulphéte (FeS0O,) + Copper (Cu)
(b) Sodium is stored in kerosene while phosphorus i8
stored in water. Justify.
SECTION-C [BIOLOGY)
Q1. Answer in one word or one sentence : (4x1=4)
(a) Sonall accidentally placed her hand over a flame
' and immediately pulled it back. She felt the sensation
of heat and reacted. Name the cell of the human
body responsible for the sensation.
(b) What is the Red Data Book? '
(¢) Identify the microbes shown in the diagrams given
below .
{d) Name any two communicable diseases for which
you have been vaccinated.
Q2. Answer briefly :. ‘ (4x2=8)
(a) Which of the following pair of ‘orgamsms are

prokaryotes :

(5)
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A.  bacteria and blue-green algae

B. amoeba and paramecium ' d
¢, humans and neem tree.

Differentiate between prokaryotes and éukaryotes.
Name the method used to preserve the following

food items :
) pickle (i) milk
(iii) fish and meat (iv) jellies

Bacterium "X lives in the root nodules of leguminous

plants and helps in the fixation of nitrogen.

()  Define nitrogen fixation.

(i) Identify bacterium X.

(iiii What type of relationship exists between the
bacterium and leguminous plants?

Sumit has learnt that tiger is an endangered animal.
He has read extensively on this topic. With the help
of his teachers and friends, he starts 'Save the Tiger’
campaign‘in school. -

(i) State the values you have 1eé‘mt from Sumit.

(iij Giveany two examples of endangered animals
found in India other than the Bengal Tiger. .

Q3. Answer the following: - (3x3=9)

(a)

Sangeeta’s family had gone for a visit to the Pachmarhi
Biosphere Reserve where they saw many animals
and plants of that area. She asked the guide about
the species found there and was gurprised to know
that some species are restricted to the biosphere
reserve only and not found naturally anywhere clse.

6)




() What is the term given to such species?
(i) Whatigga biosphere regerves

(i)  Why is the biadiversity of the Pachmarh;
" Biosphere Reserve said to be unique?

(b) Explain the roje of Yeast in the baking industry and
in the commercial production of alcohol and wine.

(] Complete the given table ;

Disease Causative | Mode of ‘
N
BN T ey iy
m= protozoa | mosquito bite
m Rust of wheat air, seeds

M T g

Answer the following : (5)

had cells having no cell waj and chloroplasts,
(a) Whose slide represented plant cells - Bhumi or Falak?

(b)  Mention the structures which are common to both
Plant and anjmal cell.

(¢) Why are stains used to Prepare a slide hefore
observing it under 5 microscope?

(d)  Drawa neat and well labelled diagram of an anima]
cell.

(7)



HALF YEARLY EXAMINATION 10/2017
- . CLASS ; VIII
SUBJECT : ENGLISH

Time : 3 hrs | MM : 80

(i)
(i)

(iid]

(iv)

Q1.

General Instructions :

Read the questions carefully.
Number the answers as given in the question paper.
Write in a neat and clear handwriting.
Write the answers in coniplete sentences.
SECTION-A (READING)
Read the passage given below and answer the questions that follow 7

The Jantar Mantar in Jaipur, the capital of Rajasthan, is a UNESCO World Heritage
Site. It is actually a collection of architectural astronomical instruments, built by
Sawai Jai Singh or Jai Singh II of the Rajpur Kachhwaha dynasty of Amber in the
18th century. Apart from Jaipur, similar structures called the Jantar Mantar were
also built in four other cities including Delhi, Ujjain. Varanasi and Mathura.

The Jaipur observatory is the largest and best preserved of these. It has been inscribed
on the World Heritage list as “an expression of astronomical skills and cosmological
concepts of the court of scholarly prince at the end of the Mughal period™. Early
restoration work was undertaken under the supervision of Major Arthur Garrett, a
keen amateur astronomer, during his appointment as Asistant State Engineer for
the Jaipur District. The Jantar Mantar was made by Sawai Jai Singh as he was
particularly interested in learning about the sky above his head.

The name is derived from Jantar (instrument’) and Mantar (‘calculation’). Therefore.
Jantar Mantar means ‘calculation instrument’. This observatory has religious
significance, since ancient Indian astronomers were also Jyotish masters.

The observatory consists of fourteen major geometric devices for measuring time,
predicting eclipses, tracking stars’ location as the earth orbits around the sun,
ascertaining the declinations of planets and determining the celestial altitudes and
related ephemerides. The Samrat Yantra, the largest instrument is 90 feet high, its
shadow is used carefully to tell the time of the day. Thoroughly restored in 1801, the
Jantar Mantar was declared a national monument in 1948.

The instruments are in most cases huge structures. The scale to which they have
been built has been alleged to increase their accuracy. However, the penumbra of
the sun can be as wide as 30 mm, making the Imm increments of the Samrat

€1



Q2.

Yantra sundial devoid of any practical significance. Additionally, the mas
constructing the instruments had insufficient experience with constructior A
scale, and subsidence of the foundations has subsequently misaligned them. ’
Samrat Yantra can be used to tell the time to an accuracy of aboit two second
Jaipur local time. The Giant Sundial, known as the Samrat Yantra (The Supr
Instrument) is the world's largest sundial, standing 27 metres tall.

The obscrvatory is used by astronomers even today to caleulate the auspicious ¢
of weddings. Students of astronomy and vedic astrology are required to take less
at the obscrvatory and it can be said that the observatory is the single n
representative work of Vedic thought that still survives, apart from the seriptur

(a) Complete the following sentence :

Jantar Mantar is a collection of

(b) How did J antar Mantar get its name?

(é) De%crlb(' lhe J dlpur observatory.

(d) How do the astronomers use the observatory in the present?

() How can the Samrat Yantra be used?

()  Find the words from the passage that mean the samc as the following : (2x}

(i) lacking professional skills (i) importance

Read the ‘pocm given below and answer the questions that follow

One thing I like less than most things is

Sitting in a dentist chair with my mouth wide open
And that I will never have to do it again

is a hope that | am against hope hopen.

Because some tortures are physical and some are mental,
But the one that is both is dental

It is hard to be self possessed

With your jaw digging into your chest.

So hard to retain your calm

When your {ingernails are making serious alterations in
Your life line or love line or some other important

line in your palm. ‘

So hard to give your usual effect of cheery benignity
‘When you know your position is one
of the two or three in life most lacking in dignity.”

And your mouth is like a section of road that is being worked on.
And it is cluttered up with some stone crushers and concrete

(C-2)
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Q3.

Q4.

mixers and drills and steam rollers
_1d there isn't a nerve in your head that you

aren’t being irked on.

Oh, some people are unfortunate enough to be strung up by thumbs,

And others have things done to their gums,
And your teeth are supposed to be being polished,
And you have reason to believe they are being demolished.

And the circumstance that adds most to your terror

Is that it's all done with a mirror, :

Because the dentist may be a bear, or as the |
Romans used to say, only they were

referring to a feminine bear when they said

it, an ursa

But all the same how can you be sure

When he takes his crowbar in one hand and-
mirror in the other he won't get mixed up,
the way you do when you try to tie

a bow tic Wi\th the aid of a mirror
and forget that left is right and

vice versa? :

(a) What is the one thing that the poet likes less than most things? (1)
(b) When is it hard to be self possessed? . (1)
() What does the poet compare the mouth to? : (1)
(d) Complete the given sentence : i (1)

(e)
)

According to the poet the circumstance that adds to our terror is

What confusion is the poet talking about in the last stanza? (1)
Find the words from the poem which mean the same as the following : (2x%%=1)
(i)  the act of making something different

(ii) ‘ torn down

SECTION-B (WRITING)

Write an email to your friend inviting her to come over to your house so that both of

_ you can go and see the Diwali Fair together. ‘ (4)

Draft an attractive and illustrative poster on ‘World Water Day’ to create awareness
about water conservation. ‘ (4)

(C-3)



@5.

Q8.

Q7.

Q8.

Q9.

Q10.

Q11

You are Shresth Ahuja, a resident of 93-B, Ambedkar Nagar, New Delhi. Wi
letter to your younger brnther, Nitin stressing on the importance of rising eyf iy .
punctuality in life.

|  BECTION-C (GRAMMAR)
Complete the sentences by a«%’ding the correct question tags (4xVs:
(@) The children were late th schoo],
(b) It is not going to be a great function,
(©) = Rahul didn't g0 to the market,
(d)  You will go to attend the party today,
Fill in the blanks with suitable collective nouns : (4x's=
(a)  Anew bridge has come up for the of army truck to pass free
(b)  The entire , of the ship welcomed the New captain,
()  The children were enjoying the food in the shade of of trees.
(d Anew ___of thieves hss come up in the ares.
Fill in the blanks with suitaﬁle abstracf nouns : (4xla=2
(a) No one can doubt her towards her work. (sincere)
(b) The losing team maintained their and walked off quietly. (dignify

()  Everyone was impressed by her and
decent)

e . [simple

Fill in the blanks with suitable relative pronouns : (4x%4=2)
(a) . The book I'read last week is quite interesting,

(b) I have a friend uncle works in an Embassy,

(© Thewoman_ lives next door sings beautifully.

(d) The person ——Yyou met in Delhi, is the fartigus writer Ruskin Bond,
Flil in the blanks with correct form of verb from the bracket. (4xVe=2)
(a) I (reach) the stop and _ (see) the bus leaving,

b I (travel) to Allahabad next week.

(o) They (warn) us many times. Let's listen to them,

Fill in the blanks with suitable determiners : (4x14=2)
(a) Only _ students are sitting in the class,

(b) — Prime Minister wil] give a speech this afternoon.

(C-4)



Q12.

Qla.

Q14.

~.  Q@I5.

() Itis long way to go.

. ) Giveme ___ sugar as | need to bake a cake.

F‘ﬂl in the blanks with suitable adverbs from the hrackets : (4x'A=2)
(a) The boy ran ' . to win the race. (fast/fastly)

(b)  Call the rose by any other name still it smells . (sweet/sweetly)
(¢) The museum was ‘ | decorated with replicas of monuments.

(beautiful/beautifully) ‘

(d) The whole assignment was completed . [efficient/efficiently)
Rearrange the given words to form meaningful sentences : ; (3x1=3)

(a) me/fear/to/nothing/there/was/she/told
(b) communicate/difficult/to/find/people/some/it/thoughts/their .
(c)  thanked/us/the/showing/him/to/the/way/for/post office/the/stranger
Rewrite the sentences into passive form : ‘ ‘ : (3x1=3)
(a)  The peon rings the bell. 2 ®
(b) Tom painted the entire house.
(c) The washerman is washing the clothes.
SECTION-D (LITERATURE)
Read the extracts given below and answer the questions that follow : ~ (3x1=3)

(A)  “So stately his form, and so lovely her face,
That never a hall such a galliard did grace;
While her mother did fret, and her father did fume,
And the bridegroom stood dangling his bonnet and plume.”

(a). Whom does the word ‘her’ refer to?.
(b) Which hall is mentioned in the above lines?
(¢} What was the bridegroom’s reaction on seeing them dance?

(B) “When I left our ancestral house twenty-nine years ago, the house was almost
two hundred years old.” ‘ (8x1=3)

(a) Name the chapter from which the above lines have been taken?
(b) Who does the word T refer to in the above lines?
(c) Where was the ancestral hotise located?

@16. Answer any THREE out of FOUR questons in about 30 40 words cach : (3x2=6)

(a) How did the woman in white sari help Arun?

(C-5)



(b) Mukul Sharma gave a big surprisc at the end of the cvent. How and why did
he do s0? -

() Jimmy tried to resettle himself in Elmore, What did he do to hide his identity?
(d How did Aditya get the medal which originally belonged to Sasanka Sanyal?

Q17. Answer any TWO out of THREE questions in about 30-40 words each @ (2x2=14)

Q18.

(a) Mention the qualities of Lochinvar which helped him win over Ellen.

(b) Who is the poet of the poem ‘Where the Mind is Without Fear’ and why does
the poet compare the society with the desert?

(©) Quote the words written on the pedestal of the statue. What does it indicate?

Answer the following question in 70-80 words : (1xd=4)

The poet P.B. Shelley has brought out a wonderful message through the poem,

' ‘Ozymandias’. Explain the statement.

Q19.

Q20.

Q21.

OR

Mention a few qualities the poet in the poem. ‘Where the Mind is Without Fear’
wishes his countrymen to have.

Answer the following question in 80-100 words : (1x5=5)

Why did Arun like the strange woman but disliked Satish’s mother? Give suitable
reasons.

OR

Imagine you are the narrator's mother. Writc a diary entry deseribing the game of
musical chair. Also write about the way Mukul Sharma behaved in the end based on
the chapter ‘True Spirit of Sport’. ‘

Answer the following question in 30-40 words : ‘ | (1x3=3)
Describe Biddy in your own words. | %
Answer the following question in 80-100 words : (1x5=5)
Why:did Miss Havisham shut herself in her house?

OR
Describe Mr. Jaggers' office briefly. What arraﬁgcmcnts had he made for Pip?

(C-6)



N~

HALF YEARLY EXAMINATION 1072017
CLASS : VIII
SUBJECT : FRENCH

Time : 3 his MM : 80

Generdal Instructions :

(i)
(ii)
(iii)
(iv)

Al.

Al.l

Read all the questions carefully.

Write in a neat and clear handwriting.

Write the answers in complete sentences.

Number the answers as given in the question paper.
SECTION-A [COMPREHENSION ECRITE]

Lisez :

Caroline, la sceur de Denis est malade. Denis téléphone
a son ami Paul : ‘

Denis : Alla? Paul?

Paul . Allo Denis, ¢ava?

Denis @ Pas trés bien. Ma sceur Caroline est malade.
Elle a de la fievre et elle'a mal & la téte.

paul : Oh. il faut amener Caroline chez le docteur.
Ty a un trés bon docteur prés de ma maison.

Denis : D'accord. Je viens tout de suite.
Chez le docteur

Denis : Bonjour docteur. C'est ma scur Caroline, elle
est malade.

Docteur : Quel age a-t-elle?
Denis : Carolinca dix ans.

Docteur: Je prends sa température ... Ah, clle a une
grippe. Il faut donner ces médicaments et du
lait chaud. Elle va guérir vite.

Denis : Merei docteur.
Répondez o (2x1=2)
(a) Quiest malade?

(1)




Al.2

Al.3

(b) Qu'est-ce que le docteur dit?

Dites vrai ou faux. (4x1=4)
(a) Caroline est la mére de Denis. =
(b) Denisa mal a I'estomac.

(¢) Paul telephone a Denis.

(d)  Caroline a dix ans.

Cochez la bonne réponse. (AxYe=2)
(a) Caroline va chez le
(i)  professeur (ii) chanteur
(iii) docteur
(b) a une grippe.
(i) Docteur (iiy Denis
(iii) Caroline
(c) Paulestun __de Denis.
(i) frere (ii) pere
(1) ami
(d) : est malade. e
(i) Paul (i) Caroline

(iii) Denis
Lisez.
La Bretagne

La Bretagne est une trés belle region de ' ouest de France.
C'est une péninsule bordée par la Manche de I'Atlantique.
Le climat est influence par Iocéan : il faft doux et humide
et souvent il fait du vent.

La Bretagne n'est pas une region trés peuplée. Les habitants
quittent cette belle région parceque l'agriculture ne permet
pas de bien gagner la vie. Le tourisme est une ressource
importante et essentielle. Il y a de belles plages sur la
cote sud de Bretagne. Quand on visite 1a Bretagne il faut
aller & Brest qui est aujourd’hul la ville la plus moderne
de Bretagne. Saint Malo et Rennes sont deux autres villes
importantes de Bretagne.

(2)




<

Bretagne est une région charmante connue pour ses crépes
et son cidre.

Répondez. (2x1=2)
(a)  Quel temps fait-il en Bretagne?

(b)  Pourquoi les habitants de Bretagne, quittent-ils cette
région?

A2.2 Trouvez du texte le contraire des mots suivanis. (2x¥=1)

A2.3

B2.

B3.

(a) laides 2 (b) ancienne #
Dites vrai ou faux. (4x1=4)
(a) La Bretagne se trouve a 'ouest de la France.

(b)  Saint Malo et Rennes sont deux villes importantes
de Bretagne.

(¢)  Letourisme est une industrie importante de Bretagne.
(d) LaBretagne a beaucoup d’habitants.
SECTION-B [EXPRESSION ECRITE]

Comment fétez-vous votre anniversaire? Dessinez aussi.

| (5)
Décrivez. (2x2Ve=D)
{a) Le salon (b) La cuisine

Mettez le dialogue en ordre. ' (5)

L'éléve . Etvos passe-temps favoris?

Le prof : Cava bien. Qu'est-ce que tu fais?
L'éléve Bonjmir monsieur. ‘

Le prol : Jaime jouer au tennis et au basket-ball.
L'éléve . Moi, j'aime jouer sur l'Qrdinate;r.

Le prof : Au revoir,

L'eleve : Je joue au cricket. C'est mon sport favori. Et
vous monsieur, quel est votre sport favori?

Le prof : Bonjour mon enfant.

()



B4.

Cl.

Leleve : (Cava?

Leprof : Jaime lire des romans. Et toi?

o
L'éléve : Au revoir.
Regardez et répondez. | - [2+3=5)
' | |
(a) [ Questce que c'est?
(i) Combien d’ étoiles y a-t-il?
b) @  Que fait la femme?
() Nommez quatre choses que vous voyez dans
Iimage.
SECTION-C [GRAMMAIRE]
Choisissez la bonne réponse : (10x¥4=5)

(a) Jaime maison. ‘
()  mon (i) mes
(iii) ma

(b) Iva ) Italié\.

(i} au (i) = en
(i) a
(4)




(¢} Ils fétent  anniversaire demain.
b i} leur ; (ii) leurs
(iif) son
*(d) Tu montres photos.
i) ton (i) tes
(iii) ses
() Elles mangent - viande,
i) du . (i) dela
(i) la '
() Ils n'aiment pas ____ fromage.
() de (i) le
(iif) du
(8 _____ acteur est beau.
- ) cet (if) ce
S (iii) cette
% (h) _____ fleurs achetez-vous?
)  Quels (i) Quelle
(iii) Quélles
(i) Le chien est _la table.
(i au-dessous (ii) ,aprés_
(iii) sous : , |
.’ e () femmes partent pour la France.
! ' ()  Cette i) Cet
; (iii) Ces
W C2. Reliez les phrases en utilisant et, parce que. mais, quand.,
si, puis, ou, donc. - (5x1=5)

(@) Henri achéte un styla, un livre; des gommes.
. {b)  Voulez-vous du gateau: des tartes?
@ Jevaischez ke docteur, j'ai de la fievre.

(5)




(@ IIn'ya pas de créme; elle va 4 [a crémerie.

C3.

C4.

C5.

C8.

C7.

C8.

C9.

() Ilva au magasin; il va au rayon de jeans.

“
Mettez les phrases a la forme interfogative. (8x1=3)
(@)  Les filles vont au cinéma. (1)
(b) Elle a deux fréres. (11
(c) Cette actrice est célébre. (1)
Mettez les verbes au passé composé, (3x1=3)

(a) 1 (envoyer) le bouquet.

(b)  Vous (connaitre) Manuel dang cette salle?
) o (écrire) des lettres,

Répondez négativement aux questions. (3x1=3)
(@) Estcequilya quelque chose dans ton sac?

(b) Est-ce qu’elle voit quelqu'un?

(c)  Vous allez toujours au théstre?

Conjuguez les verbes au présent. (3x1=3)
(a) Elle (lire) la journal,

(b) Tu (se lever) a 7h.

{¢) Nous (savoir) jouer au basket,
Complétez avee des adverbes de quantite. (2x1=2)
(trop de, peu de, assez de, beaucoup de ete.)

(a) , cahiers achetez-vous? ‘

(b) Ellea bonbons que sa scenr,

Retrouvez les phrases. ' (2x1=2)
(@) Vous/vendu/ avez/maison/la.

(b) aller/ cn/Je/véux/ Suisge, IS
Corrigez la faute - (2x1=2)
(@)  Nous ne pas fatsons de tennis.

(b)  Pauline et Manuel Joue dans le parc.

(6)

-




Cl0. Chassez lintrus. - (2x1=3)
» (8 ce, ces, cet, ses
T b trop de, donc, Plus de, assez de

SECTION-D LA CULTURE ET 1A CIVILISATION]

DI.  Choisissez la bonne reéponse. (10x15=5)
(@ Nice est :
i) une montagne (i) une ville
(i)  unvip
‘ (b)  La ville lumiére, cegt -
(i) Lille (ii)  Paris
(1) Lyon

(c)  Caroline aime ;
O les ours € peluche (if) s roman
(iii) les livres

d L embleme nationa] est :
@) la tour Eiffe] (i) Le buste de

‘ Marianne

(i) e drapeay frangais

(€)  La France est entourée de pays.

) dix (i)  six
(1) cing
(f) Napolégn Bonaparte ést deveny général 4
ans. : :
(i) 25 ) 24
(i) 926
(8 L' Union Europeenne ¢st Un grand ensemble de !
Pays
(i) vingt-sept (ii) vingt-six



D2.

Dl.

D4.

(h) . symbolise la fierté du peuple francais. :

(i) Lavache (i) Lecoq
(i) Lelion -
(i) LePrésidentde la République est élu pour _
ans.
B 15 ' (i) 3
(iii) 8
) ILa Marseillaise a été écrit en
M 1792 ) 1795
(i) 1799 ‘
Répondez aux questions. (3x1=3)
(a) Combien de garesy a-t-il & Paris? |
(b) Quelleestla profession d'Emelie?
(c) Pourquoi M. Lavigne, a-t-il téléphoné & son beau-
. frere?
Dites vrai ou faux. (5x1=5)
(a) Mme. Lavignea fermé toutes les portes.
(by Taj Mahal est un monument en marbre.
(c) La famille Lavigne va a Lyon.
(d) 1l faut arriver 3 I'école a 'heure.
(e) Manuel veut offrir un chateau a Céroli,ne.
Reliez : ‘ (4xYe=2)
(a) Desmontagnes ) LeRhin
(b) Desfleuves (i) LaFrance
(¢) Lhexagone (iii) LedJura

(d) Charles de Gaulle (iv) LePrésident

L -



HALF YEARLY EXAMINATION 1072017
b . CLASS: VIl |
SUBJECT : SOCIAL SCIENCE
Time ; 3 hrs MM : 80
General Instructions :
(i) Readallthe questions carefully and number the
answers according to the questions.
(ii Questions carrying 1 mark should be answered
in one sentence.
(iii) Questions carrying 3 marks should be answered
within 60-80 words.
(iv) Questions carrying 5 marks should be answered
within 80-100 words.
(v) Attach the maps properly to the main sheet.
Q1. Answer the following questions in one sentence each:
(6x1=6)
(i) ‘Mysore had grown in strength under the
leadership of these two powerful rulers Name
them.
(i) Why did the architect make sure that the
Viceroy's Palace was higher than Shah Jahan's
Jama Masjid?
(iliy Define stock of resource.
(iv) Where is the world's first solar and wind powered
bus shelter located?
(v) Name the law according to which sons,
daughters and their mothers can get equal share
in family property.

(1)



Q2.
Q3.
Q4.

Q5.

Q6.
Q7.

Q8.
Q9.

Q10.

Qll.
Qlz.

(vij Which Fundamental Right is violated if a 13-
year old child is working in a fac.ory
manufacturing carpets?

What were the reasons for the decline of small trading
centres that resulted in de-urbanisation in the late
eighteenth century? (3)

Why did the British preserve the official documents
and how was this done? (1+2=3)
List any three social reforms initiated by the British.

‘ (3)
Why was grand Durbar organised in 18777 ‘The British
chose to hold it in Delhi although it was not the
capital’. Give feasoné. (1+2=3)

Distinguish between renewable and non-renewable
resources, : (3)
Define landslides. Write any two mitigation techniques
of landslides. (1+2=3)

‘This non-conventional source of energy is obtained

from the heat energy of the earth’. Identify it and

write its characteristics. (1+2=3)

(i)  Enlist any two factors on which the development
of a resource depends.

(i) Classify resources on the basis of origin. (1+2=3)

(i What do you understand by domestic violence?

(i) List any two rights achieved by women through
the ‘Protection of Women from Domestic Violence
Act’. ' (1+2=3)

What is Parliament? Discuss its composition. (1+2=3)

Briefly exﬁlain the problems faced by people while
accessing the court. (3)

(2)



Q13.In what ways did the British change their policieé
“ufter the Revolt of 18577 (5)

Q14. Explain the system of subsidiary alliance. (5)
Q15. Discuss the factors controlling goil formation. (5)

Q16.(i) How is the process of drilling different from
quarrying in extracting a mineral.

, (i) ‘Minerals are used in many industries’. Discuss.

(2+3=5)
Q17. Write any five Fundamental Rights provided to the
Indian citizens by the Constitution. (5)

Q18. (i) ‘It is the apex courl in India’. Identify it and
write its features.

(i) How are the different levels of courts connected

to each other? (1+2+2=9)
@19. Discuss the composition and functions of Rajya
Sabha. © (2+3=h)

(20. Attempt the following maps :

(a) On the provided political map of India, name
and mark the following : (3x1=3)

() Capital of Britishers after 1911
(i) Portuguese base in India
(iif) State having deposits of gold in India

(b) Onthe provided political map of the world, name
and mark the following : (3%1=3)

() Largest producer of diamond
(i) Largest producer of high grade iron-ore

(iii) Continent from where Britigh, Portuguese
and French came

(3)
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